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Instruction: Show the commands written and the outputs given in the command window.
PROBLEM STATEMENTS

(1) There are some variables in the workspace and the command window of MATLAB,
and it is desired to clear all of them from the two places. Write the commands that can
be used to execute this operation(s).

(2) With the aid of MATLAB mfile. find

(i) the determinant,
(i1) the transpose, and
(iit) the inverse (expressed in both decimal and fractional forms)

of the matrix given below.

2 3 7 9 4
3 7 9 12 5
A=|4 & 5 0 9
5 9 2 4 5
6 2 3 7 8

(3) Solve the set of algebraic equations given below using MATLAB mfile.

10x+4y—-2z=-4
“3w—1Tx+y+2z=2
wHx+y==6
8w—34x+16y—-10z=4

Guidelines on Submission
(1) Convert your solution file(s) into one PDF file.
(2) Name the PDF file using your matriculation number without slash. For instance, if your
matriculation number is 12/ENGO1/001, name your file as 12ENGO01001,
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commandwindow
clear
clc
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commandwindow

clear

clc

A=[2,3,7,9,4; 3,7,58,12,5; 4,8,5,6,9; 5,58,2,4,5; 6,2,3,7,8;]:
Flourish=det (&)

Flourish=tranapcocse (&)

C=inwv (&)
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commandwindow

clear

clec

&=[0,10,4,-2; -3,-17,1,2; 1,1,1,0; &,-34,16,-10];
b=[-4:2;0;4]:

E=det (1)

C=invik)

w=C*[
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C:

-0.1786 -0.1020 0.5714 0.0153
0.0357 -0.0153 0.0357 -0.0102
0.1429 0.1173 0.3929 -0.0051

~0.0357 0.1582 0.9643 -0.0612
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